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Let a and b be two nonzero real numbers. If the coefficient of X in the expansion of [a}f + o= ] 1S
X

)
equal to the coefficient of x is equal to the coefficient of [ax ] ] , then the value ot 2b 1s

bx*
[JEE(Advanced) 2023]
s :
L 5 if r<s,
For non-negative integers s and r, let ( J =Jr!(s—r)!
r
0 if r>s.
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For positive integers m and n, let g(m,n) = L p)
p=0 {ﬂ T PJ
p
) - P fmY(n+i)/p+n
where for any nonnegative integer p, f(m,n,p) = Z . .
i=p\ 1 P P—1
Then which of the following statements 1s/are TRUE? [JEE(Advanced) 2020]

(A) g(m, n) = g(n, m) for all positive integers m, n
(B) g(m, n +1) = g(m+1, n) for all positive integers m, n
(C) g(2m, 2n) = 2g(m, n) for all positive integers m, n

(D) g(2m, 2n) = (g(m, 1‘1))2 for all positive integers m, n
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Suppose det =0 =0 =0, holds for some positive integer n. Then Z ” !kl cquals
n n B __+_
Z n Ck k Z an 3k k=0
| k=0 k=0 )
[JEE(Advanced) 2019]
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)“ +...—|—IO(I”CH}) , Where ]GCI-, re {l,2, .., 10} denote binomial

coefficients. Then, the value of X 18 : |[JEE(Advanced) 2018]
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Let m be the smallest positive integer such that the coefficient of x> in the cxpansion of

(1 + 1)2 (1. F :{)3 T s +(1 + x)49 + (1 + mx)ﬁﬂ 1s (3n + 1) 51C3 for some positive integer n. Then the

value of n 1s |JEE(Advanced) 2016]
The coefficient of x_ in the expansion of (1 +x) (1 + XZ) (1+ 13) ..... (1+ xm“) 1s |[JEE(Advanced) 2015]
Cocfficient of x' in the expansion of (1 + }.:2)4('1 + xg’)?(l % 14)12 1S - |[JEE(Advanced) 2014]
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